
Puzzle

And, when the slit gets narrower,g
the central fringe gets WIDER
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Q35.6

An air wedge separates twoAn air wedge separates two 
glass plates as shown. Light of 
wavelength  strikes the upper 
l t t l i id Atplate at normal incidence. At a 

point where the air wedge has 
thickness t, you will see a 

A /2 B 3/4

bright fringe if t equals

A. /2. B. 3/4.

C.  D. either A. or C.

E. any of A., B., or C.















Q36.1
Light of wavelength  passes through a single slit 
f idth Th diff ti tt i b dof width a. The diffraction pattern is observed on 

a screen that is very far from from the slit. 

Which of the following will give the greatestWhich of the following will give the greatest 
increase in the angular width of the central 
diffraction maximum? 

A. Double the slit width a and double the wavelength 

B. Double the slit width a and halve the wavelength .

C. Halve the slit width a and double the wavelength 

D. Halve the slit width a and halve the wavelength 
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